EARAROBEEIERT — 2 N— IBISH —F 20174108158 (B) 4H%=5H

mﬂa%zﬁ kBEF CBS) [5F) B8 BRI e
[A&4] 1 7% :5,000,000 @ 23 :2,000,000 ™ 33 :1,300,000 ™ 43 :750,000 5 7% :500,000 {
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
- s 2 | FlAEX 1:23.5 6-5 35.1]83.4| 2 470 | FEEX (EH)
198 5 NgFZ 54.0 (-) (-12) EKEZ“&“/)I/7
Z:A—-FA7Fr07 B:axFv J—YTr—LA
ST S 2 | EHE 1:23.6 9-7 34.9| 82.4 | 5 420 | /MAIITE ()
6| YTV 54.0 (3/4) ) | K FALE
R:RKY—bL¥r—Z=— B:iHIETU-—X AR Ry R
4 o2 | HLFE 1:23.7 11-11 34.6| 81.4 | 6 476 |BMEZ (ER@)
3 12 T — 4 .0 (7€) o |EHE
RIAY2TTyva BiTILFIRSD HHZ 4y K
N R :23. - . . iR (W)
. B AR w2 |2 A N COEE R P -7
L:Z2bhAT)E—-> BEITYALTR HET77—L
AR R i o2 | dtKEE 1:23.9 3-3 35.7|78.9 | 7 466 | REEM— (i)
5057 |F>7 XL~ 55.0 (11/2) (-4) |EEBH
R:TFyIaFS—F BiF—INAE— e
2 5 = 4 2 | AHEEE 1:24.2 13-13 [ 34.8| 76.3 | 9 428 | PEREZ (EH)
6/5|8 IYET4F -7 54.0 (11/2) o) [l
R:v>Ny&>hT1 B:IVETLAZ BREHS
= < B2 | HEEAH 1:24.3 4-5 35.8| 75.1 | 12 | 456 | BAEX (E#)
7121|777 XA A A 8.0 (172) +2) ) $5TLy K957 5747
R:A-JZXA2 214 B:5TY—EN eilikse]
i o2 | BERE— 1:24.3 1-1 36.4| 74.2 | 4 486 | EIEEAME (KH)
8 3|1 bETS 55.0 (7€) (+4) | AEMERE
R:bE—XT—F— B:Ya1y3Y AR %7
N . FiElE 124, = . . KMER (EiH)
oY 4| /Ny b -y~ "2 a8n ey S Rl A ‘};‘? 2REE
R:Z2hA>Y)a2—> B:7A>KFenqd > (B) HBEa-KL—-—ra>aEI77
3 3 4 2 | BEES 1:24.8 11-11 [ 35.6| 70.1 | 11 | 472 |=HEXH (E#)
19| SVTEF—%2— 55.0 @ 1/2) (a) | HIETEBS
R:vayrrh>7 B:3vESsO—1— BAAHNS
S S50 5 = 4t 2 | Sl#E— 1:24.9 9-10 36.1| 69.2 | 8 450 | EKERE (FiH)
1118114 A/ TVZT 55.0 (1/2) o) gﬁﬁ'ﬂé‘i
R:F1—TTVI>T B:xLIE Y — AH BX
o = FRAHER : - EFME (E#)
ool 7ErELY 5 i 2 e 1.(235).4 7-7 36.7 | 63.7 | 10 422)2 e
L:A—-KAFAT7 BIMFET AU H—F VAL T —L
. . # 2 | RLRKA 1:25.8 7-7 37.1| 60.3 | 13 | 478 |EHEEE (E#)
13[1]1 | NTF xS 850 @1/ oy | FED
L:VWR—b B4 —L—L-—> &I *E—
S N B2 | =AM 1:28.4 14-14 | 37.8| 38.0 | 14 | 460 |=AHME— ()
14813 7>/ V> 54.0 (519 Cro) |1AB
.40 B:Ov>IXA—3 A%y K
@ 21 L
£y 47.8-35.6
NaO>24 L | 12.5-11.3-11.9-12.2-11.8-11.3-12.5
® I—F—@EBIERL
13—7-
23—7F—
== 3,4,7(2,11)5(1,10) (6,14)-(9,12)-8-13
Mal=5r= 3,4(2,7) (5,11) (1,10,6)14-(9,12)8=13
[ N5
B R 5 380 | | 71 K 5-6 740 | | B E 4-4 2,240M | | 3:EE& 5-6-12 7,190M
# B 5 1909 5-12 960 B E 66 2,000 EE 5-6-12 29,740
6 280M 6-12 1,430H B H 5-6 3,130M
12 280M

ABICOVWTRDTEEERROODE. TR LIV,



